
Problema 4  

Solución: 

1) Ecuaciones 

 

M ∗ Ḧ =  P4 ∗ 𝐴 −   𝑀 ∗ 𝑔 

 

m ∗ 𝑥̈  =   𝑃3 ∗ 𝑎 −   𝐾 ∗ 𝑉 − 𝑏 ∗  𝑥̇     ≈    0 

 

𝑃1 =  𝑃3 +  𝜌 ∗ 𝑔 ∗ 𝑥  

 

𝑃2 =  𝑃4 +  𝜌 ∗ 𝑔 ∗ 𝐻 

 

Q = γ ∗  √𝑃1 − 𝑃2 

 

Q = A ∗ 𝐻̇ 

 

𝑉𝐿 = 𝑎 ∗  𝑥 + 𝑐 ∗ 𝐿 + 𝐴 ∗ 𝐻 

 

𝑥 = −
𝐴

𝑎
∗ 𝐻 

 

∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗∗ 

 

𝑃1   =  𝜌 ∗ 𝑔 ∗ 𝑥 +  (
𝐾

𝑎
) ∗ 𝑉 +  (

𝑏

𝑎
) ∗  𝑥̇ 

 

𝑃1   =  𝜌 ∗ 𝑔 ∗ (
(𝑉𝐿 − 𝑐 ∗ 𝐿)

𝑎
− (

𝐴

𝑎
) ∗ 𝐻) + (

𝐾

𝑎
) ∗ 𝑉 + (

𝑏 ∗ 𝐴

𝑎2
) ∗ 𝑥̇ 

 

𝑃2 =  𝜌 ∗ 𝑔 ∗ 𝐻 +  (
𝑀

𝐴
) ∗ Ḧ  +   (

𝑀

𝐴
) ∗ 𝑔  

 

(
𝐴

γ
)

2
∗ 𝐻̇2 =  (𝑃1 −  𝑃2) ∗ 𝑠𝑔𝑛(𝑃1 −  𝑃2)  𝛽 =  𝑠𝑔𝑛(𝑃1 −  𝑃2) 

 

𝛽 ∗ (
𝐴

γ
)

2

∗ 𝐻̇2 =  (𝑃1 − 𝑃2) 

 

𝛽 ∗ (
𝐴

γ
)

2

∗ 𝐻̇2 = [𝜌 ∗ 𝑔 ∗ (
(𝑉𝐿 − 𝑐 ∗ 𝐿)

𝑎
− (

𝐴

𝑎
) ∗ 𝐻) +  (

𝐾

𝑎
) ∗ 𝑉 −  (

𝑏 ∗ 𝐴2

𝑎3 ) ∗ 𝐻̇ ] 

                             − [𝜌 ∗ 𝑔 ∗ 𝐻 +  (
𝑀

𝐴
) ∗ Ḧ  +   (

𝑀

𝐴
) ∗ 𝑔 ] 

 

 



(
𝑀

𝐴
) ∗ Ḧ  + 𝛽 (

𝐴

γ
)

2
∗ 𝐻̇2 + (

𝑏𝐴2

𝑎3 ) ∗  𝐻̇ +  𝜌𝑔 (
𝐴+𝑎

𝑎
) 𝐻 = (

𝐾

𝑎
) ∗ 𝑉 + 𝜌𝑔 (

𝑉𝐿−𝑐𝐿

𝑎
) − (

𝑀

𝐴
) 𝑔  

 

2) Posición de equilibrio: 

 

𝐻 = 𝐻0,   𝑉 = 𝑉0,      𝐻̇0 = 0,   𝐻̈0 = 0 

 

𝑉 =    𝜌𝑔 (
𝐴 + 𝑎

𝐾
) 𝐻 − 𝜌𝑔 (

𝑉𝐿 − 𝑐𝐿

𝐾
) − (

𝑀

𝐴
) 𝑔 

 

 

 

3) Modelo en pequeña señal 

 

𝐻 = 𝐻0 + ℎ,    𝑉 = 𝑉0 + 𝑣 

Ḧ = −𝛽 (
𝐴3

𝑀0γ2) 𝐻̇2 −  (
𝑏𝐴3

𝑀0𝑎3) ∗  𝐻̇ −  𝜌𝑔 (
𝐴 + 𝑎

𝑀0𝑎
) 𝐴𝐻 + (

𝐾𝐴

𝑀0𝑎
) 𝑉 + 𝜌𝑔 (

𝑉𝐿 − 𝑐𝐿

𝑀0𝑎
) 𝐴 −  𝑔  

 

ḧ = − (
𝑏𝐴3

𝑀0𝑎3) ∗  ℎ̇ −  𝜌𝑔 (
𝐴 + 𝑎

𝑀0𝑎
) 𝐴 ∗ ℎ + (

𝐾𝐴

𝑀0𝑎
) ∗ 𝑣  

 

𝐻(𝑠)

𝑉(𝑠)
 =  

(
𝐾𝐴

𝑀0𝑎
)

𝑠2 +  (
𝑏𝐴3

𝑀0𝑎3) 𝑠 +  𝜌𝑔 (
𝐴 + 𝑎
𝑀0𝑎 ) 𝐴

 

 

 

4) 𝜌𝑔 (
𝐴+𝑎

𝑎
) 𝐻0 = (

𝐾

𝑎
) ∗ 𝑉0  + 𝜌𝑔 (

𝑉𝐿−𝑐𝐿

𝑎
) − (

𝑀0

𝐴
) 𝑔 

 

 𝜌𝑔 (
𝐴 + 𝑎

𝑎
) 𝐻 = (

𝐾

𝑎
) ∗ 𝑉0  + 𝜌𝑔 (

𝑉𝐿 − 𝑐𝐿

𝑎
) − (

𝑀

𝐴
) 𝑔 

________________________________________ 

 

∆𝐻

∆𝑀
= −

(
𝑎
𝐴

) 𝑔

𝜌𝑔𝐴
 

 



5) Sistema realimentado 

  

a)    𝜌𝑔 (
𝐴+𝑎

𝑎
) 𝐻0 = (

𝐾

𝑎
) ∗ 𝑉0  + 𝜌𝑔 (

𝑉𝐿−𝑐𝐿

𝑎
) − (

𝑀0

𝐴
) 𝑔 

 

      𝜌𝑔 (
𝐴+𝑎

𝑎
) 𝐻 = (

𝐾

𝑎
) (𝑉0 − 𝐾𝑐𝐾𝑠(𝐻 − 𝐻0)) + 𝜌𝑔 (

𝑉𝐿−𝑐𝐿

𝑎
) − (

𝑀

𝐴
) 𝑔 

      --------------------------------------------------------------------------------------- 

      𝜌𝑔 (
𝐴+𝑎

𝑎
) (𝐻 − 𝐻0) = − (

𝐾

𝑎
) 𝐾𝑐𝐾𝑠(𝐻 − 𝐻0)– (

𝑀−𝑀0

𝐴
) 𝑔 

 

     (𝜌𝑔 (
𝐴+𝑎

𝑎
) + (

𝐾

𝑎
) 𝐾𝑐𝐾𝑠) (𝐻 − 𝐻0) =  − (

𝑀−𝑀0

𝐴
) 𝑔 

 

(𝜌𝑔 (
𝐴 + 𝑎

𝑎
) + (

𝐾

𝑎
) 𝐾𝑐𝐾𝑠) (𝐻 − 𝐻0) =  − (

𝑀 − 𝑀0

𝐴
) 𝑔 

 

∆𝑀

∆𝐻
 =  −

𝑎
𝐴 𝑔

𝜌𝑔𝐴 + 𝐾𝐾𝑐𝐾𝑠
 

 

 

 

Relación: 

 

𝑅 =  
𝜌𝑔𝐴

𝜌𝑔𝐴 + 𝐾𝐾𝑐𝐾𝑠
 

 

 

 

b)    V = cte 

  Ḧ =
1

𝑀
(−𝛽 (

𝐴3

γ2) 𝐻̇2 −  (
𝑏𝐴3

𝑎3 ) ∗ 𝐻̇ −  𝜌𝑔 (
𝐴+𝑎

𝑎
) 𝐴𝐻 + (

𝐾𝐴

𝑎
) 𝑉 + 𝜌𝑔 (

𝑉𝐿−𝑐𝐿

𝑎
) 𝐴  –  M𝑔)  

 

ḧ = − (
𝑏𝐴3

𝑀0𝑎3) ∗  ℎ̇ −  𝜌𝑔 (
𝐴 + 𝑎

𝑀0𝑎
) 𝐴 ∗ ℎ + (

𝐾𝐴

𝑀0𝑎
) ∗ 𝑣  −   𝑔∆𝑚  

∆𝐻(𝑠)

∆𝑀(𝑠)
 = − 

𝑔
𝑀0

𝑠2 +  (
𝑏𝐴3

𝑀0𝑎3) 𝑠 +  𝜌𝑔 (
𝐴 + 𝑎
𝑀0𝑎 ) 𝐴

 

 

 



 

Sistema realimentado 

ḧ = − (
𝑏𝐴3

𝑀0𝑎3) ∗  ℎ̇ −  𝜌𝑔 (
𝐴 + 𝑎

𝑀0𝑎
) 𝐴 ∗ ℎ + (

𝐾𝐴

𝑀0𝑎
) ∗ (−𝐾𝑐𝐾𝑠ℎ)   −   𝑔∆𝑚  

 

∆𝐻(𝑠)

∆𝑀(𝑠)
 = − 

𝑔
𝑀0

𝑠2 +  (
𝑏𝐴3

𝑀0𝑎3) 𝑠 + (
𝜌𝑔𝐴
𝑀0𝑎) (𝐴 + 𝐾𝐾𝑐𝐾𝑠)

 

 

 

 

c)  (
𝑏𝐴3

𝑀0𝑎3)
2

− 4 (
𝜌𝑔𝐴

𝑀0𝑎
) (𝐴 + 𝐾𝐾𝑐𝐾𝑠) = 0 

 

             𝐾𝑐 =
(

𝑏𝐴3

𝑀0𝑎3)
2

−4(
𝜌𝑔𝐴2

𝑀0𝑎
)

4(
𝜌𝑔𝐴

𝑀0𝑎
)𝐾𝐾𝑠

 

 

 

             
𝐻(𝑠)

𝐻𝑅(𝑠)
 =   

(
𝐾𝐴

𝑀0𝑎
)

(s +  
𝑏𝐴3

2𝑀0𝑎3)
2

 

 

 

 

d)         
𝐻(𝑠)

𝐻𝑅(𝑠)
 =   

(
4𝐾𝑀0𝑎5

𝑏𝐴5 )

((
2𝑀0𝑎3

𝑏𝐴3 )s + 1)

2

 

 

  𝐺 =
4𝐾𝑀0𝑎5

𝑏𝐴5  

               𝑇 =
2𝑀0𝑎3

𝑏𝐴3  

 

 



ℎ(𝑡) =   𝐺 (1 −   𝑒−
𝑡
𝑇    −   

𝑡

𝑇
𝑡𝑒−

𝑡
𝑇) 

 

𝑒−
𝑡
𝑇  (1 +

𝑡

𝑇
) <   0.01 

 

            𝑡 =  6.64𝑇 


